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5 3 |k ik DEBF[K B 2 1 3 2 5 6 4
5 2 |k ik ZF |k Ek 1 5 1 3 2 6 4
3 4 |K ik DERF|T—TARTAVY 3 - 2 1 3 — —
8 1 |[Uyh — REBF 2 3 1 1 5 5 3
8 2 |Yyh— ZF 2 5 3 1 1 5 3
8 3 |Hvh— DEBF 3 5 1 1 3 4 5
3 1 [7=X REBF 4 6 2 1 3 4 5
3 2 |[7=X REXF 4 5 3 4 1 2 6
5 1 [/R—Fk RERF[HEFHETAT 2 1 3 2 4 5 XiE
1 1 |R—=k REBF|2TILAAIL 2 2 1 4 DNF 5 3
5 2 |R—k BREXF [REFAEIAE LT N 3 1 2 8 - — XiE
3 2 |[R—k RELF|FTILAAIL 2 2 4 1 5 - 3
1 2 |R—k BRELZF|(UTILRAIL 2 2 1 4 6 5 3
5 3 |[R—k DEBF REFHEIFNNT L 3 1 3 6 4 5 2
3 3 |R—k DEBF|(FTILAAIL 2 1 2 3 6 5 4
1 3 |[R—k DEBF|OUTIVAAIIL 2 2 1 3 5 6 4
5 4 |R—k DELZF REFAEIANLT L 2 2 1 3 5 — 4
3 4 |R—b VELF[(FTILRAL 2 2 3 4 5 6 1
1 4 |R—k DELZF(OUTIVAAIL 2 1 3 4 5 — 2
8 1 |Rylr— REBF 1 2 3 5 5 1 3
8 2 |Ryr— RELZF 1 1 2 4 4 =i 3
8 3 |hyr— VEBF 1 =FE kit &Y REHE
8 4 |Ryr— DELZF 1 = EEARPIEICKY R
1 1 [Rosy BREBF 3 =FE kit &Y REHE
1 2 |RoPoy RELZF 3 = EEARPIEICKY R
1 3 Ry VEBF 3 =FE kit &Y REHE
5 1 [NL—R—)L |REBF|6 A 2 =EEAPIEICKYKREME
5 2 |NL—h—)L | BERF|[6AF 2 =FE kit &Y REHE
5 3 |[NL—h—L |[DEBF|6ANEH 3 =EEAPIEICKYKREME
5 4 |NL—R—)L | DELZF|6 NG 3 =EEFPLEICKY R
5 14k 2 BREBF[H B 1 5 2 1 4 6 3
5 2 |k # BELTF(# B 1 — 5 2 1 4 3
5 3 |iK & DEBRFFR B 4 4 2 1 3 6 5
5 4 |1k #B VELZF(B B 3 5 4 1 2 6 3
5 4 |iK & DELF|F AR 4 5 3 2 1 4 6
1 1|k BF PSR 2 4 3 1 2 — —
1 2 |ix & XF [FSURYY 2 — 3 1 — — 2
5 1 |\ zyybi— L | REEF 2 i 3 EiE 2 1 i
5 2 |NRTIbR—IV| RELF 2 3 2 1 5 4 EiE
5 3 [z yrR—L|bEBEF 3 3 1 2 R 4 5
5 4 |NRTIbR—IL| DELF 3 3 1 2 5 4 5
1 1 [9z1ruo7000 | REBRF 6 2 5 3 1 4 6 JEfLIZ kB HI5#
5 1 |nURR—)L |[BREBF 2 5 3 1 1 3 5
5 2 |N\RR—IL | RELF 2 5 3 1 1 5 3
5 3 |N\URR—IL | DEBF 2 =EEFPLEICKYREE
5 4 |INURR—L | DELF 2 =EEAFPLEICEY R
5 2 |VIhT=R RERF 3 4 1 6 5 3 2
5 3 |VIT=X RELZF 2 6 1 4 3 5 2
5 4 |YIhT=R DERZF 3 5 1 6 4 3 2
3 1|5 % REBF 2 =EEAPIEICKYREME
3 3 [£ Bk BREZF 4 =EE{KrpibIc &Y REHE
3 4 |5 B VELF 2 =EEAPIEICKYREME
8 1 (B EEk RERF 4 6 1 4 1 1 5
1 3 [B fif L& | FAREESRES 1 - 3 1 4 2 —
3 2 |2z y BREXF 2 4 3 2 5 - 1
3 3 |7z y PEBF 3 4 1 3 5 6 2
3 4 |2z y VELF 2 4 1 5 3 - 2
5 2 | & RERF 3 4 5 1 1 3 5
5 3 | & DEBF 3 3 5 1 4 1 5
8 1 |YIkiR—)L RERF 2 5 3 1 2 5 4
8 2 VoK=L BEXTF 2 E 30 2 5 1 4 3
8 3 |YThER—)L PEBF 1 5 3 1 3 - 2
8 4 |YIrER—)L DELF 1 5 3 2 1 3 5
3 IR A N=10% RERF 2 2 1 3 6 4 5
3 3 |/\RFSUbY RELZF 4 6 1 3 2 4 5
3 4 |/NRSURY DERZF 2 3 4 1 2 5 6
3 1 |5 & REBF 3 1 5 3 2 4 6
3 2 |B & RELF 3 2 1 3 5 6 4
3 3 |5 & DERF 2 4 3 1 2 5 6
3 4 |5 E DELF 2 5 3 6 1 2 4
1 1 |[SA7ILHE  |REBF|FR3 %40 2 5 1 2 4 3 —
1 1 |547)L58 |[HESF|[FRE6OPR 3 5 4 1 3 6 2
1 1 |547)L58 |[BESF|AP60 2 5 4 2 3 6 1
1 2 [SAT)HE | REXF|R3 x40 2 1 5 4 3 6 2
1 2 [SATL5E | BELXF|ARGOW 3 1 4 2 5 3 —
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1 2 |SATIEE | HEXF|AP6OW 3 1 4 5 3 2 6
1 3 |54 58 | LEBF|ARG0J 3 4 5 2 — 1 3
1 3 |SATLE5E | VEBF|BR60J 2 2 5 6 1 4 3
1 3 |S51oL58  [LEBEF[BP60OJY 2 2 1 4 3 6 5
1 4 |547)5% | LELKF|BR60WI 2 1 6 5 3 2 4
1 4 |ZATLHE | DELTF|BPEOWI 3 1 4 5 2 3 —
3 2 |8 & BEXF 2 3 1 5 6 2 4
5 3 |8l & DEBEF 2 4 6 3 2 1 5
5 4 |8 & DERF 2 6 5 4 1 3 2
5 1 [57E—ourti—L | KEBF 2 = EEARPEICKYERRAE
5 2 |3vE—Dubk—L| HF 2 ZEERPIEIZRY KRB
8 3 [srE—Durk—n | bEBEF 2 ZEERPIEICEY KRB
3 2 |RrRKE—YHS1305 | LERF 2 5 4 1 2 6 3
3 3 [zrf—vosqzvs| bEBF 3 4 5 K& 2 1 3
3 4 |ZRR—vH51305 | DERF 2 — 3 2 3 1 5
1 1 [hx— RSB F|SP K-1 3 3 4 5 2 1 —
1 1 [hx— BAEBF([SP Cc-1 3 2 1 — 4 5 3
1 1 [hx— RREEF[SLK-1 3 2 — 3 1 4 —
1 1 [hx— BAEBF([SL c-1 1 3 1 2 — 4 —
1 1 [hx— AR B F [WW K-1 1 1 - EiE 4 3 2
1 2 |[Hx— R F|SP K-1 2 1 4 3 2 — 5
1 2 |hxX— A ZF|SP C-1 1 3 — — 2 — 1
1 2 |hxX— A% F[SL K-1 2 1 3 2 — — —
1 2 |[Hx— REXF|SL C-1 1 1 — — — — —
1 2 |[Hx— RRAERF [WwW K-1 1 1 — — — — —
1 3 [Hx— DEBF|SP K-1 4 4 1 — 2 3 5
1 3 |[hX— DEBF|SP K-2 1 3 1 — 2 4 5
3 3 [Hx— HEBF[SP K-4 1 1 2 — 3 — —
1 3 |[Hx— DEBF[SP C-1 3 2 3 — 4 — 1
1 3 [Hx— HEBF|SP C-2 1 4 1 — 3 — 2
1 4 |[hRX— DELZF[SP K-1 3 1 3 - 2 4 -
1 4 |hR— DELZTF[SP K-2 1 3 1 — 2 - e
3 1 |7—Fz)— REBF 3 3 6 1 4 5 2
3 2 |7—FzU— |HELRF 3 3 2 4 1 6 5
3 3 |7—Fx)— DEBF 2 2 6 1 4 5 3
3 4 |7—Fz— |DELKF 2 2 3 1 6 5 4
1 1 |ZEFE REBF|H 2 2 1 5 3 4 6
1 2 |ZFE RERF|H 3 5 2 1 3 4 —
1 3 |ZEFE VEBF|R 3 6 4 1 3 2 5
1 4 |Z=FE VERF (R 2 5 3 1 2 4 6
3 4 | GELE DELF 4 6 1 2 3 4 5
3 1 [Ryyvy BREBF 3 2 3 1 6 5 4
3 2 |Royry RELZF 3 4 2 3 6 5 1
3 3 |RyyLy DEBF 2 5 3 1 2 - 4
3 4 |Royy DELF 2 6 5 3 2 1 4
3 3 |9z VEBF 3 2 5 3 1 4 6
5 1 |ZARKYT— |BEBF 4 3 2 1 4 6 5 RZEEAE
BEIEBRR(A) 105 105 105 105 105 105
EHH(B) 247 48 47 56 46 27 23
ZHE (B/A) (%) 45.7% 44.8% 53.3% 43.8% 25.7% 21.9%
R=E(C) 13 28 11 18 12 22
(B+C)/AZE 58.1% 71.4% 63.8% 61.0% 37.1% 42.9%
> F1aEKS # B A PN It s Fnggil
B EUE B RB(A) 123 123 123 123 123 123
R (B) 293 45 60 72 54 30 32
EHEE (%) 36.6% 48.8% 58.5% 43.9% 24.4% 26.0%
K= (C) 26 22 20 29 11 22
B+C/ A 57.7% 66.7% 74.8% 67.5% 33.3% 43.9%




